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ZHEL

a=N;/N, =E;/E,

EZEE (Vao: “RARE—RBE Vo Z R T EE)

= (V2o — Vap) X 100/V,,[%]

€ = pcos + qsinf[%]

BOEEHET (2n: ZREEER, Ryt ZRAE 2K P = Izn X Ry X 100/ V5, [%]
BAXRVT 72 XET (%U 722 ABET) q = I, X X, X 100/V,,[%]
BNERA VE—KVZAET (%24 v E—X 2V R) %Z = [p? + q%[%)]

EXTURIB Ph o V2/f
AEME Pe « V2
EERHE(P, 2B LA, AP, 5TI8) N X 100[%)
BERP.awHA) a=P/Pn
RS EEtR
EHIRE ([OEk R O REERE) Ns = 120f/p [min™]
[B185+F D [RlERRE N =120f(1 —s)/p [min~]
[El8rF B RE w = 21N /60 [rad/s]
B Y s =(Ns—N)/Ns
B Po = wT[W]
MLy T =Po/w][N -m]
TR RERIE BRI D Py:Pyi:Po=1:5:1—35s
=Hd =
FEEES E = k@N[V]
hLy T = k@la[N * m]
REZEEE (N, : BEFREERE, N, EEEERERRE) £= (No — Nn) x 100/Nn[%)]
RIRALE
vk EERER (B THEETA)

B v E—&X v R (BALER) (Ks:fEi&LL)

Zs= 1/Ks [pu]

FHAFREBHLE D (EFEREN ViFEL VI NLEEE)

P = 3EVsind/x [W]

K7—IL70=7R
HARRERRERE (EaEFRFHEELYV - Z0ME) Ed = 0.45V (1 + cosa)/2 [V]
HeRERER (B BERTHEREV @ EHE) Ed = 0.9V(1 + cosa)/2 [V]
= AR ERE R ( BRTFEEE,V  REEL) Ed = 1.35Vcosa[V]

3 v /N

Vd= Ton xV /(Toff + Ton) [V]

3 v /N

Vd= (Ton+Toff) XV /Toff [V]
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HE [=F/w]cd]
FHR(SER) F = 4ml[lm]

BE E=F/A=1/r*lx]

e L=1/A[cd/m?]
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